/(«/é; Jyr2.6, Zo/0

1. (3) Circle the correct IUPAC name for the compound in the box:

2 4—ethyny1—3 -methyl-1-pentyne 3 4-dimethyl-1-penten-5-yne 3 4-dimethyl-5-hexyn-1-ene

I N & ~ 6 /4 V/VS
\\ 34-dimethyl-1-hexen-5-yne’} 3 4-dimethyl-1-hexyn-5-ene 3 4-dimethyl-5-hexen-1-yne

2. (8) Circle the major organic product obtained from the following sequences of reactions:

_ NaNH, CH;CH,l 2 Na (Z)-2-pentene ((E)-2-pentene }  1-pentene Z/ / //S
CH;C—=CH > - — =
NH; () NH; () 2-pentyne  (Z)-2-iodo-2-pentene  (E)-2-butene
1.Bry 3.BH;, THF 2
A/ e -y
2.NaNH, (2 mol) 4.H,0,, H,0,NaOH

3. (6) Write reagents (in the boxes) that can be used to convert the reactant to the indicated product:

lf"f‘ 'r) ,/

J\/\ L, 2| Mo,

Py - NH; (liquid) >T

r vz Lok
/\/55 hv
, - Br
Y peroxid{es;/CHZ(:l2 B oy \‘/\ é/ 7L§
! + H,0,H,S0
— A/C?/A//’{Z\ 6#36}, f’/) 2 LA _ H3C\C/CH3

HC—CH NH; > - /L,/ ((f 5 Q/- (cat) Icl

[pf

4. (5) Finish drawing structures of products for the following two reactions by placing appropriate
substituents in the boxes (use a condensed structure for the alkyl groups, 1 pt each box)

iIpt //'7 s
H
| cHBr @/ CH NN H AN
O‘E CHyCH,0H Q_ - | AT CH,OH ./ o %\
CH 14 H

5. (3) Circle the least stable radical:

Overall Score:




